_ Arithmetic Series
S’i‘gma 'Natation- A shorthand notation for representing a series maékes use of the Greek
letter Z. The sigma notation for the series 6 + 12 + 18 + 24 + 30 is > 6n.

n=1
“examplc G
€ 4dW Evaluate > (Sk + 4),
_ k=1 _ ‘ )
The sum is an arithmetic series with common difference 3. Substituting # = 1 and 2 = 18 -
into the expression 8% + 4 gives ay = 8(1) + 4 = 7 and a,5 = 3(18) + 4 = 58. There are 4,9.9
18 terms in the geries, 5o # = 18. Use the formula for the sum of an arithmetic series. ‘w\ﬂ
. W

Sa = %(a,l +@,)  Sumformula 0 ¢
o 8. g XV 0%
8yg = T(‘Z +588) n-184,=74a,-58 . H Mj‘o}y} o/

= 9(85) Simplity, 3 g0

= 585 . Multiply. _ SV g\xf-p

18 ~
80 (Bk + 4) = 585, , _/"

k=)

Find the sum of each arithmétic series.

20 4 : 25 18
1 Z(-Bh + 1) 2. Z(x - 1) 3, Z_(gk -7
nsl n=5 $=1
76 i : 16 _ - B0
4. > (2r — 200) 5. > (6x + 3) 6. > (500 - 61)
r=10 £=1 : =1
g0 85 _ 200
7. 3 (100~ k) 8 > (n— 100) 9. > 8s
k=] #A=20 g=1
28 36 82 _
10. > (2m - 50) 11 > (5p - 20) 12, > (26 - )
m=14, p=1 J=12
i 42 50 14
.’13. > (4n —9) 14, > (3n + 4) 15. > (7 - 3)
- n=18 =20 j=5



